[ Translation of Graph of Quadratic Function (Convex upward) ]

% Observe the translation of the graph of the quadratic function.
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Touch the screen to move the graph of y=-2x*2
Touch the screen again to stop the graph.
If you touch it furtherit will be initialized.

When the screen goes dark,touch the title bar !
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[Screenshot] [ Emulator image]
Galaxy S9 Android Studio Version 3.5.1

[Outline]
Let's see that the graph of "y =— (x —6)°+ 1 0" is a translation of the graph of

by +6 in the x-axis direction and +10 in the y-axis direction.

n v e 2 X 2n
Observe how the graph of "y = — 2 x *" moves in parallel by +6 in the x-axis direction and

+10 in the y-axis direction and ovelaps with the graph of "y =—2 (x—6)°+ 10"
At this time , Let's note that these two grsaphs have the same shape and spread , but differ only

in position.



